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, The figures in the margin indicate -
full marks for the questions.

-

1. 'Choose the corre’ct-answef’:‘ . 1x10=10

(i) Extra-territorial jurisdiction in.Indian
Penm bode is contamed in ]
(section 4/section 7)

. I ,
(i) In. the yﬁdian Penal Code,. the word,
woman1 d denotes

(a .major woman/ a woman of any age)

Contd.



 curat lex’ ?

(iv)

' punlshable under

(vi)

i)

- (viii) As

Which of the following provisions. is ‘

based on the maxim ‘de minimis non
.(sectioﬂ 82/ section 95)

Abetment of sulclde of ch11d 1s
of IPC.
(section 305 / section 306)

Section 149 of IPC
(is a rule of evidence/.

créates a distinct. offence)

A

Pun1shment for not1ng under the IPC

is (for two years only/

for 'two years or fine or both) °

;'During the fight between the two ladies,

‘A’ and ‘B’, ‘A’ pulls ‘B’ by hair and

‘rernoves some of her hair. ‘A’ is guilty

of -an offence ¢f causing
. (burt/grievous hurt)

sault cannot be caused by

tmere words/mere gestures)
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(ix) ‘A’ in good faith 'believing property

()

@

belongmg to ‘Z’ to be A's own property,

takes that-propelty out of B’s
possessicn. Here ‘A> '

(commits theft/ does riot ‘commit theft)

Eyton..on 1s . when it is comnutted

'unaer fear of instant hurt.

(robbery / dacmty)

2. Answer the following questions : (any five) |
2x5=10 -

What are the stages of crime ?
Wnte'a short note on — ‘doli incapax’. -

What is affray ?

- Explain the offence of dowry death.

‘A’ threatens to publish a defamétory

libel concerning ‘2’ unless ‘Z’ gives him

money. He does induce ‘Z’ to give him

' money. Whéther ‘A’ has comrmtted any

~ offence.
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(H Whaf is. the difference between robbery

~and dacoity ?

. . What is meant by mens rea? Explain the
dictum — Actus non facit reum nisi mens sit

rea. How far a motive -necessary for
* determining a crime? Are there any

except1on to the dictum of mens rea?
‘(ﬂlustrate your answer. - 3+4+3+2=12

OR

D¢finé ‘and explain the followmg
expressions — | 3+3+6—12
‘(@) Dishonestly and Fraudulently )

‘(b) Wrongful gain-and Wrongful loss

(o) Common intention and Comimon object.

‘Necessity knowq no law.’ In the hght of the

statement, discuss. the circumstances -

' limitatians under which a man is justified
in committing acts, which would otherwise
be an offence. ‘ - 12
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OR

Define abetment and abettor. What are its

kmds ? State wh'a.t pumshment 9-_prov1ded .

if the act «bett\d is committe& in

consecuem,e of a‘)et(nent Wnte a few lines

Jon dlS\.ll"Cfion between abetment and_

-

criminal consp1racy. 3+3+3+3-12 '

What do you mean by offerice against public

tranquillity ? Name .at least three offences

~ which are included in offence against public

tranquillity. When does a lawful assembly |
become unlawful ? What is the hab111ty ofa

member ‘X’ of an unlawful assembly which

~ committed an offence, but ‘X’ did not take

_part in the commission of the offence ?

3+3+3+3=12
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OR : _
S 7. Give a comparative analysis of the cifences

) : Expla.in the term ‘Sedition’ as ’give'n in the e of theft, extortiori, robbe: ry and dacoity as
o) . ' .
IPC. Do you not feel that pubhc leaders are oer law laid down in7IRC: ‘ : :\12
liable for this offence at the tlme of _ : ' | . OR

addfessing public meetings? Discuss the What is criminal misappropriation of

recent development in thlS regard ‘ 1 __property ? How does it differ from criminal

. : | 4+4+4=12 . (breach of trust? ‘A’ finds a rupee on the

- , , S ‘ high road, not knowing to whom the rupee

| _ . - be longs. ‘A’ p_icke up the rupee. Here,

6. What is hurt? Explain the circumstances - criminal ‘mis*a’ppropriation has been
“under which hurt become grievous ‘hurt. | A\ »commltted by ‘A’ or.not. Explain.

Write few lines on. voluntanly causmg hurt 3+6+3 12_

by dangerous weapons or means.- . - |
2484212 |

" OR
What is kidnapping from lawful guardian? -
How does it rmter trom abductlon ? What / /
/r

" are sources of the a;,gz avate forms of this "

offences ? Explain. - 4+4+4=12
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